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GENERAL KNOWLEDGE
1. fa +20 Tera: Frefeftan § & fre graifim 2 7
, (A) SHEEn fEE (B) & |
(C) He, farshra (D) i fam
Rio + 20 is mainly related to which of the following ?
(A) Population control (B) Forest protection
(C) Sustainable development (D) Economic development
2. fr=fefea # 8 %1 w8 wfog 4o awm & 7
1. SRR SIER
3 .
B8 o LI
IR 5 s 3 Felt ot feviforedt e ws Feaifoe @
= feu T Fe | TE I F www i
Fe:
(A) Hae 2 3N 3 (B) et 1 3R 2 (C) et 1 3T 3 (D) FaeA 1

Which among the following are the best known capital markets ?
1. The stock market
2. The bond markets

3. A depository account with any of the depositories in India
Select the correct answer from the code given below :

Code :

(A) Only2and 3 (B) Only1and2 (C) Only 1 and 3 (D) Only 1
3. Ta=fafiga § & fraa gwy fen i s@umon 1 sfaaes G o 2

(A) ot srfeg (B) w@nft fadwm=

(C) @i Zam= (D) I # © HI$ 7

Who among the following propounded the concept of Integral Education ?

(A) Sri Aurobindo (B) Swami Vivekanand

(C) Swami Dayanand - (D) None of the above

4 W g Fefafea § @ frm am d feua 2 7

(A) WRA (B) HrfereT (©) ™ (D) |y

Khyber Pass is situated in which of the following countries ?
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(A) India (B) Pakistan (C) Bhutan (D) B;ingladash

5. wiEe & sfueman gee wen fwifa

The maximum number of members in the Lok Sabha s fixed at

(A) 550 (B) 562 (C) 545 (D) 530
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10. %@iaﬂiﬁ,ﬁﬁaﬁ@uaﬂdﬁmaﬁﬁuoc)ﬁwmgﬂaﬁaﬁﬂqﬁﬁﬁmwﬁ,ﬁqﬁfm ‘

dafrmcmad e

(A) ST (B) da 1= IR
(C) e (D) Forarsd
Kirsty Coventry, who became the first woman to be elected as President of the International Olympic
Committee (IOC) is from which of the following countries ?
(A) Brazil (B) United States of America
(C) Australia (D) Zimbabwe
1. G0 - 1= g - 0 % oy il i g gt & 69 e e e @ w@ e gf
EYE - et - 11
B (o) (e )
a. I 50 |. Tgafa W R
b. =T 143 Il. =ArTfer 3R FHETferER % s guEER
c. ITR 61 I1l, e Hel HENT 6l
d. 3T 320 IV. Feied A 1 FelEHR ST
o=
2 (A) a-Il b-lI c—IV d-1ii
(B) a-Ill b-IV c-I d-1l
: (C) a-l b-I c—-IV d=-Il
(D) a=-ll b-IV c-I d—1ll
l' - Match List — | with List — |l and select the correct answer from the code given below the lists.
List -1 List=1I
(Article) (Constitutional Provision)
a. Aricle 50 I. Impeachment of the President
b. Article 143 Il. Separation between Judiciary and Executive EVE
¢. Aricle 61 lIl. Functioning of Public Service Commission T
d. Article 320 IV. Advisory Jurisdiction of the Supreme Court -
Code :
(A) a-ll b=l c-IVv d-ll
() a-l b-IV c-I d=-Il
(C) a-l b-I c-Iv d-ll
(D) a=Ill b-IV c¢c-I d-1l

12. wAA, 2m*mﬂﬂmmm*m%m&mﬁﬁwm%mw% ?

() BN SAFME  (B) FAOHFME  (C) w4 ey

D) %
Which classes are included in the middle school education according to NEP 202£J '7)' which:
(A) Class 510 Class 8  (B) Class610Class 8 () (lagg 4 10 Class 6 (D; Class 6 to Class 9
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14.

(B) WETUS -
that was declared lnﬁ“

0

(B) Maharashlra" f

WN&WPMK
; States ?

(A) Manipur

g fasm’ a1 e fop ad ifere & SR 2

(A) 1972 (B) 2007
In which year did the idea of
(A) 1972 (B) 2007

| i ﬁq%ﬁaﬁﬁﬁmwwﬁwm

(A) STgEvEEd g forrard
oy wPR

‘Coriolis effect’ is a result of which of the followang

(A) Atmospheric pressure differences
(C) Earth's rotation

. g -1 g - uﬁmgﬁﬁmﬁr&m
— m".

(AT & T=n)
a. fafy & awa quma 1 sfan
b, % SR W Y A g
s,ailtﬂm

‘Sustainable daygl opm

Scanned with CamScanner

GET IT ON
Google Play



https://applink.adda247.com/d/XhqWf9lSap

Add? 247
G

17. @3, 2020 % €. .6 3. w5 e
(A)maﬁmﬁmq&&wag ) w 1 Fwel el o e
(©) e ww e e o v e e e
In NEP 2020, ECCE stands for
(A) Enhanced Childhood Caring and Education  (B) Efficient Childhood Care and Education

(C) Early Childhood Centered Education (D) Early Childhood Care and Education
18, WEles St arwamvy frefefias § & forg oo 6 foua 2 7

(A) BETETE (B) Tiat (C) FeTEN (D) WA

Mhadei Wildlife Sanctuary is located in which of the following States ?

(A) Chattisgarh (B) Goa (C) Uttar Pradesh (D) Madhya Pradesh
19. = 2025 7 Giftan faferrs % Wy gedfi w efted Tt s JEf 1w A 2 7

(A) 1 = (B) = faemn (C) St BTE (D) forer =T

What is the name of the astronaut who returned to earth along with Sunita Williams in March 2025 ?

(A) John Glenn (B) Butch Wilmore (C) Jeremy Hansen (D) Victor Glover
20. T=forfiga & 8 =9 vF yiE ° UiT godid E Yo aftve (NAAC) 1 wafis S 2 7

(A) 33 foran dxyml 1 y=mEE (B) HEUMI # =RH HiF &1 fafaw

(C) favafqarem vaw vlien smifaa s (D) Bl %I o 2@ vem Fe

P.E. Which one of the following is the primary focus of the National Assessment and Accreditation Council
@A (NAAC) in India 2
(A) Accreditation of higher education institutions  (B) Regulating tuition fees in institutions
(C) Conducting university entrance examinations (D) Providing financial aid to student

21, ﬁnﬁﬁaﬁﬁm—m/ﬁn@umﬂﬁ 2000 % W4 B/ 7
1. 2045 9% FAEET R HE | C
2.wmﬁ1oo,oooﬁﬁaa=ﬂqndo%=ﬁ%mi

w5z
(A) 1 31T 2 gl (B) a1 3 AH2
(C) Fad 2 (D) ae 1

Which of the following is/are the objectives ot National Population Policy, 2000 ?
1. Population stabilisation by 2045.
2. Reduce maternal mortality rate to below 100 per 100,000 live birth.

Select the correct answer from the code given below

Code :
(A) 1and 2 both (B) Neither 1 nor 2
(C) Only 2 (D) Only 1
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24. g -1 F A - 1% w1y gifera w1
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el - g - I
. o faen I a4 2020 F1 AT 23
EIRE b et 1 3w I, w40, 2020 F1 AT 20
ﬁﬁt c. =T firem I, wadd. 2020 F HAE 21
d. W fran v, g, 2020 %1 HEATE 15
Fra fou mu e d & wdl I g
Fe:
(A) a-1,b=IV,c=Ill,d=1l (B) a=-1l,b=IV,ec=Il,d=1ll
(C) a=IV,b=1,c=1ll,d=Il (D) a-IV,b=l,c=Il,d=Il
Match List — | with List — II.
List -1 List—- 1l
a. Teacher education I. Chapter 23 of NEP 2020
b. Technology use Il. Chapter 20 of NEP 2020
c. Professional education Ill. Chapter 21 of NEP 2020
” d. Adult education IV. Chapter 15 of NEP 2020
Iyl ‘ Choose the correct answer from the code given b;_,low :
\ Code :
(A) a-L,b=IV,c—Illl,d=1I (B) a-I,b—1V,c=1l,d-1ll
(C)a-IV,b-1l,c—Ill,d=1 (D) a=IV,b=1L,c=1l,d=1lll

25, M 7@ #i wiet warg yonet % wed # Frefafed #§ @ wH-8 FuE wd E 7
a. WA § 7 8 yorel Had 72 2 |
b. T %1 3T I A 2 |
o, e A Y i e 6w e & |
d. #1747 & Al a2 i wgE wEEE TG 2 |
4 fou o, et # @ WA I AR -
(A) a4 a,c,d (B) #ad a,b, d (C) ®ad b, ¢, d (D) ¥ a, b, ¢
With reference to river Ganga drainage system, which of the following statements are correct 2
a. The Ganga river system is largest in India.
b. Ganga rises in the Uttarkashi.
¢. Satluj and Jhelum are tributaries of Ganga system.
d. Son river is its major right bank tributary of Ganga.
Choose the correct answer from the options given below :
(A) &,c,donly (B) a,b,donly (C) b, c,donly

(D) a, b, ¢conly

®8¢
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o6, oW, w1 e R 7
(A 396 AR TEEH 1
(C) T o v TEEH -
 What does ‘ANPR' stands for 7 S
(A) Advanced Number Plate Recognition
(©) Automatic Number Plate Recognion (o
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31. WHEE B

Monosonic is
(A) 2n + 1 (B) 2n+2 (C) 2n—-1

32. FE - | H g - 1 F Ay gafea H1 | -

E¥E -l -1l

Bl o g #aw | et ferf
b. TSI &1 &1 HH 1. fefeera At 99 W ™
c. fuvdt =1 99 wfigf ., SemEEE Ed
d. el F W v, Sered e

Hi= o o e 1§ wE I gfO |

Fe:
(A) a=ll,b=1,c=Ml,d=1V
B) a—lil,b—1V,c—1l,d—|
(€) a~-Il,b-Il,c—IV,d-1
(D) a-1l,b-Il,c—IV,d~I

(D) n

Match List — | with List — I1.
List-1 List-1I
a. Citrus canker |. Melanospora lini
b. Green Ear of Bajra Il. Hibiscus yellow vein mosaic virus
¢. Vein clearing of Bhindi lll. Xanthomonas citri
d. Rust of Linseed IV. Sclerospora gramnicola
Choose the correct answer from the code given below.
Code:
(A) a=llLb=lc—Il,d=IV
(B) a=lll,b-IV,c-Il,d-1
(C) a-ILb-Il,c—1Iv,d-1l
(D) a=liLb—Il,c—IV,d-I

33. fm=fefan =it i ag srgwn § =aferd |
|. SHHE g Fle=TE gRl FFvEl Fl Y0
|1, STeHA U ek g1 €1.U4.U, 1 0SS Hise
IIl. &S U St g ZraaTer weg wiauried Fe
Iv. 5 gro st e fasm & @ S @1 werfag F
(A) 10, 0, 1V, 1 (8) 1, 1,1, 1v ©) 1, IV, 1, 1t
Arrange the following steps in the correct sequence.
I. Induction of polyploidy by Colchicine by Blakslee
. Il. Molecular model of DNA by Watson and Crick
Ill. Term transposon coined by Hedges and Jacob
IV. Central dogma of molecular biology proposed by Crick
(A) 1,1 av, 1 (B8) I, 1,1, 1v (©) 1LV, Il 11

(D) 1, 11, IV, Il

(D) 1, 1 1v, 1l

@100
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39, FE -1 & g - 11 A fre

GET IT ON
Google Play

g -1 gt -1l
EYE a S I. K STRATHI
R b. affoafés I, Cytb® Cytc# gerergi gt
c. afemmmatEE . ATP fiidrs &1 F1 wegfe
d. TEmmEiEE T v, Tmgermm SR
Hi fou o g ® @ wA I AR
| (A)a—IV.b—-II.c—I.d—-III (B) a-IV,b=Illl,c=1,d=1l
(C) a-l,b=1l,c=ll,d=1V D) a-1,b=1ll,c—1V,d=1l
Match List — | with List = II.
List -1 List—1I
a. Cyanide I. K+ ionophore
b. Auravertin Il. Electron transfer from Cyt b to Cytc
¢. Valinomycin IIl. F1 subunit of ATP synthase
d. Antimycin A IV. Cytochrome oxidase
Choose the correct answer from the code given below. i
Code :
(A) a=IV,b-Il,c— I,d—1Ml (B) a-Iv,b=lll,c—1,d=1
(C) a-I,b=1Il,c— i, d=1v (D) a—1, b—Ill,c—=1V,d=Il
40. U FETEH i F AFS AT A 8
The standard size of a herbarium sheet is
(A) 18.75x41.25¢cm (B) 28.75 x 35.23 cm (C) 25.15 x 40.25 cm (D) 28.75 x 41.25 cmi
41. ﬁ%ﬁaﬁ—mwmmmﬁmm%? q
(A) Tz PR aEEhE i (B) Arhw sREhHE fEE
() T aEEhER e (D) fefih sEEfrER ==
Which of the following is the first biosphere reserve of India ?
(A) Great Nicobar Biosphere Reserve (B) Nokrek Biosphere Reserve
(C) Nandadevi Biosphere Reserve (D) Nilgiri Biosphere Reserve
42. ﬂﬁqﬁﬁmﬁ(mﬁﬁtﬁ)ﬁmr@m%
a.ﬁlﬂzﬂﬁﬂaﬂtaﬁﬁﬂ‘gﬂﬂnﬂﬂ(%ﬁq)ﬁ EXE
b, HTET FHFIGHE % Fereifn fawm q 0
o, T ym & -
d, A B TEdd Fmeh fawrem 1
A) a,b,c B) b, d C
i g ENCE (D) b, ¢, d

Gnetum resembles angiosperms in having
a. Shoot apices with distinct tunica and corpus
b. Tetrasporic development of the female gametophyte
c. Dicotyledonous embryo
d. Free nuclear division Irz Bz)ygl;:t?1
(A) al bl c 1] C
o (D) b,c,d
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43.

i 1. Presence of chlorophyll ‘a' and 'b’

Wﬁ%ﬁw
e @ frerferfaa & @ 4.
1_@(,‘%.&.3#{‘“%3@% *mmmﬁmammg?

2. %%mmﬁmﬁm

3. WEWH i % v 4 gl F1 8
a. "ﬁwﬂamamﬁiﬁa@r@lﬁ :
(A) T 1, 2 39 4 (B) et 2,334 (C) *aet 3 3t 4
In context of algal evolution, which of the following cha

m 2. Storage of starch with pyrenoids

44,

3. Possession of phycobilins as accessory pigments
4. Absence of motile reproductive stages C -

(A) Only 1,2 and 4 P
(B) Only 2, 3and 4 I (C) Only 3and 4 (D) Only 1 and 2
Tt - 18 gl - ) e w5
Tt - Tt -1
a. formfas : » . y
I T 18-HTeH - Sehlee, T T wRSEE T
oY TR
b. N.T.5T. . T T 3 R 1 ey
c. Hi.€1.4. iii. UORTE
o WA N . e
i few 7o %52 & & g I g | g
&
(A) a=iv,b=iii,c—ii,d=i (B) a—iii, b=iv,c—i,d—ii
(C) a—ii, b—i,c—iv, d—ii (D) a-i,b-ii,c=iii, d=1v
Match List — | with List — Il
List— | List -1l ‘
a. Sphingosine i. An 18-C amino-alcohol, a diol with an unsaturated hydrocarbon chain
b. PHY Gene ii.  Encodes apoprotein of the pigment phytochrome e
c. PCD iii.  Apoptosis %
d. MYB Proteins Iv.  Transcription factor

Choose the correct answer from the code given below.

Code : ' : oid=i |
(A) a—iv, b—iii,c=il,d~I (B) a-lli.b"l";_m el |
(C) a~ii,b~i,c~iv,d il o) a-hb-l |
7
©13¢
’j‘ | R
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a5 i R % wn ey sagee fadtaa: e i @ feel a2 7

(A) TeUmTEHeE & (8) FraffeAmTEheE 4
(©) Afufemmdiza # (D) wemHTEHiEE
Clamp connections are characteristically formed during cell division in which of the following ?
(A) Deuteromycetes ~ | (B) Chytridiomycetes
(C) Basidiomycetes | (D) Ascomycetes
. 46. T — | F g - 1 B gafem wE |
2 . o | e
2 a. i F % W o) 1 e e
; b. fig 1 Ist W N, i fifenren o . fozh
‘ c. Tig &1 #134 W . FASGTEHH FeAhed
e d. T FE W Iv. weeifran i
t = 1 7 wd fowea 3w g N
B ®: =
(A) a=ll,b—1IV,c—1,d=1ll €5 B a-l,b—ll,c—1V,d=1I
o (©) a —Ill,b=1,c—IV,d—1l 7'_ D) a-Ill,b—1l,c—IV,d—I
Match List — | with List - II.
List -1 C List -1l
a. Black rust of wheat I. Puccinia recondita
b. Yellow rust of wheat Il. Puccinia graminicola f.sp. tritici
c. Brown rust of wheat _. . Colletotrichum falcatum o0y
d. Red rust of sugarcane “IV. Puccinia striiformis &
Choose the correct answer from code given.
Code :
(A) a=I,b=1V,c~1,d~1lI (B) a=l, b=, c-1V,d-Il
(C)a~Nb-lc~IV,d-lll D) a=,b-l,c—1V,d=1|
47, e T o e # s & faers T ges wfea @ ael s sien Se-0 2 o
(a) wifagefea favere (B) WA et
(C) WTey rHiAe fredi| (D) ErRvEfEf TS frogig
nmmm,mwmmmmammmammm?
(A) Oxidative burst (B) Chromatin remodelling
(C) Phylohormonal response (D) Hypersensitivity response

®14e¢
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| STEH
@%@ I, I 7 T
LT
V. 9%
(A) 11,101, 1v, 1
' (©) LIV, 1,1

I. Lichen
Il. Herbs and shrubs
lll. Moss
IV. Trees
(A) 1,1V
C) LIV, i

49, it -1 F g - 11 § o™ w=
= - |
a. gFAEEN
b. TH.U.JAKR.
c. ci&
d. sEfE-1

H fou e e ® | A IR IFC |
L T
(A) a~—iv, b—ii, c—iii,d =i
(C) a—ii,b—i,e=1iv,d—ii
Match List — | with List — II.
List —1|
a. Nucleosome
b. SAR

c. tau
d. Dynein-1

- GET IT ON
Google Play

P“’ PRI <O i T & S S i |

001

{

g g —
37

ii. 147 bp DNA wrapped around histones
iii. ATPase activity

(B) I, 1, 1v
(D) 1,0, 1v, m

Arrange the following steps in a sequence of s&ccession.

(8) 1, 11, 11, 1V
(D) 1,1, 1v, 1l

gt -1l
. S A H wEE

i, fom % 9r 3R foer g3 147 pp AT
i

iv.

ATPase Tiafafy
Frifea F gk Afgad 8 HS

(B) a-ii, b-iv,c—Ii,d—ii
(D) a—i,b—ii.c—iii,d*iv

List=1l
Assembly of tubulin molecules

EHE
“rz
410]

Anchor chromatin to nuclear matrix

Choose the correct answer from the code given below.

Code :
(A) a—iv,b—ii,c—iii,d—i
(C) a—ii,b—i,c—iv, d=iii

.

(B) a- I, b—iv.c—i,d—iii

(D) a- i, b=, &= jii, d = Iv

€159
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s0. 14 @ e fou o &, we i st (A) afk gE oA (R) FE TR

EE S (A) zreshimEa Afafeammsa 6 fafireem 2 |
Eae TR maﬂwmmﬁ&aq%ammgmﬁaﬁmaﬂtmm%l .

Ta fawes 94 | :

(A) (A) ®E 2, W (R) T & »

(B) (A) e B, T (R) WEl R

(©) (A) 3 (R) A T & g (R), (A) i T S T ¥

(D) (A) 3t (R) A1 @l & 3 (R), (A) 61 Hel e 2

Given below are two statements, one is labelled as Assertion (A) and other as Reason (R).
Assertion (A) : Trichogyne is the characteristic feature of Basidiomycota.

Reason (R) : The function of Trichogyne s to ca?iure and receive male gametes during fertilization.

Choose the correct option.

(A) (A) is correct, but (R) is incorrect

(B) (A) is incorrect, but (R) is correct

(C) Both (A) and (R) are correct, but (R) is not the correct explanation of (A)

(D) Both (A) and (R) are correct and (R) is the correct explanation of (A)

1. ﬁq%%awﬁaﬁwmﬁaaﬁmﬁﬁqi“
|, TET U HTRvAL G WY Ha H S

Il. TIEE T RO I @IS
iIl, TrE gR SAEgeEE § JEE Herd A g
V. ﬁlﬁﬂammﬁhﬁﬁﬁ?ﬂwﬂﬂﬂﬁ@m

F
t
i,

1

|

L]
S
ey

:

1
!

i
i
i
'I
{I
LI
\-l-
<
%
<
.

2 fou U e F B wA IR A |
e
(A) 11, 111, 1V, 1 (B) 1, 111, 1l, IV (©) 1,1V, 11, 1t ©) T, IV, i

Arrange the following steps in the correct sequence.
|. Discovery of anther culture by Guha and Maheshwan
II. Discovery of polyembryony by Leeuwenhoek.
III. Discovery of syngamy in Angiosperms by Strasaburgar
IV. Discovery of double fertilization in Angiosperms by Nawaschin,

Choose the correct answer from the code given below.

0]%40]
1
[=

Code :
(A) I, 111, 1V, | (8) 1,11, 11, IV (C) 1,1V, 1, (D) 1, 11, IV, Il

52. th‘wﬁmmﬁ e st o frefefen § & few st Rl @ 99
#idl 2 7 _
W frgdefigm (@B s s (©) FemeThee fagm (p) o g
Aneuploidy females possessing a single X’ ehromosome are typically associated with which of the ol
genetic condition ?
(A) Cri du chat syndrome (B) Down syndrome . (C) Kiinefelter syndrome (D) Turner syndrofm

@169
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55. ﬁﬁﬁmyﬁﬂmmwwmmﬂ

mmﬁﬁ{' (B) 1, 11,11, IV
.ﬁdﬁhﬂ%ﬁyﬁh@mmﬁi-
wﬂmwﬁﬁ'* '

(C) smeifFan swfeia

V. Mmdmmmhmm
(A)

»”
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§7. d.UA.N, 3] B U W w4 Fifaied § & fean g 2 7

Which of the following is the uniform diameter of a DNA molecule 7

(A) 80 A (B) 27 A (C) 60 A (D) 20 A
58, friffin fredl § @ way S dara ke w1 @ A I |
— i, TS 1 RAATEAIA
-~ e
i, SR
iv. TEATRT
(A) iv, i, ii, i (B) i, iv, i, il (C) i, il, i, iv () i, i, i, iv

Choose the correct sequence of plant tissue culture processes from the following options.
i. Sterilization of explant

ii. Incubation
iii. Inoculation
iv. Hardening
(A) iv, i, ii, iii (B) i, v, i, iii ~ (O) i, i, i, iv (D) i, i, ii, iv
so. Frmffad & S-m B i % I B § § Afac g g s e e
=g
(A) 1T (B) =ftw st H
(C) g ¥ o faehe (D) HEIETHE %3

Which of the following centers of origin of cultivated plant was identified by Vavilov as having the greatest
diversity in crop species 7

(A) Indo-Malay Center (B) South American Center

(C) Near Eastern Center (D) Mediterranean Center

60, FA% i HfeH # Fad T HI AR THAY § B~ fwrard = 9@} 2
1. w oAt # wegm @ sigl 6 3R AT '
2. HEER FA% e A fanfia wae o w fawm
3, Wt = A g sraeen 1wy

4. TFEHTEHTIETE qay @ fwfor 6 e

() Fw 2,354 (B) ¥ 1,234 (C) Faw 230k g (D) e 133

In fungi, which evolutionary advancement is associ iy

- Lo gh ated with the transition from primitive to ade
1. Shift from isogamy to oogamy in reproductive strategies
2. Development of septate hyphae from coenocytic hyphae O}

3. Dominance of dikaryophase in the life cycle
4. Ability to form ectomycorrhizal association

(A) Only 2, 3 and 4 (B) Only 1,2 and 4 (C) Only2and 3 R
nly
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61. mmaﬁmﬁqﬂ
a. TN Hergan us e fova wofd B
b. 3 A9 v fawa st 2 |
c. 8 i wafir g < 2 |

d. UTETOUE U qoet fava wonfe R |
ud famwoy o

(A) T b, ¢, d
(C) Fae a, b, d

Read the following statements carefully :
o a. Oryza sativa is an old world species.
= b. Zea mays is a new world species.
]». ’r- c. The origin center of bamboo is China.

d. Pineapple is an old world species.
Choose the correct option :

(A) Only b, c, d
(C) Onlya, b, d

(87}
ra

g - | & g - 1w frEm )
= -

a. T % i i.
b, &A™ & Hw ii.
c. 3 FEME & #4 i
dam%aﬁa V.

g fow o 2 § & T IW FAC |
T

(A) a—iii, b—ii,c =i, d=

(C) a—ii,b—i,c=iv,d—ii

Match List — | with List — Il.

List-|
a. Within sample i
b. Within habitat i
c. Between two habitals i
d. Between two landscapes iv

(B) %a4 a, ¢, d
(D) *4a4 a, b, c

(B) Only a,c, d
(D) Onlya, b, c

gt -1l

farg fafawan
e fafaaa
wrer fafaaan
T fafaua

(B) a—iv, b—iii, c—i d—i
(D) a-i,b—ii,c=ii,d—iv

List=1l

. Point diversity
~ Alpha diversity
. Beta diversity

Delta diversity

Choose the correct answer from the code given below.

Code :
(A) a—iii,b—ii,c—i,d-

(C) a—ii,b—i,c—iv,d—ii

(B) a-1v, p—iil,c=hd
(D) a-i, b=l c—lii,d-

@19¢
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g3 iy HfEma § i wfedes sfafen % o Rl e HferEdn (SAR) % o0 BA-T TR

I ® 7 -

(A) TS (g) foratfer

(C) ufeufi It () Aferfafers 37 ‘ ol

Which chemical is responsible for eliciting Systemie/Acquired Response (SAR) during plant’s infection 2
(A) Ethylene (B) Gibberellin.

(C) Abscisic acid (D) Salicylic acid

4. i 6 afei SR ) Pt # @ #-f v avid 4 3 7
a. TEIEHER (F§ )
EYVE b FEARERE (EEHT)
ERE . e (IEHR)
d. e (T0)
e. fatz
(A) a,b, c (B) a,d, e (C) b,d, e (D) a,c
Which of the following terms described shape of plant leaves ?
. Acicular
. Oblanceolate
. Ovate

. Entire
e. Serrate

(A) a,b,c (B) a,d, e (C) b,d,. e (D) a,c

om

a0

g5. ErTEARE o AR 94 i YR gease fifafes § @ 5 9 gewl 5 99 oA W R
FUHAT 2 7

(A) HTEEM b6l TR 3 fiuE. | () w.u.# uw, fermgifets sk gfafFdm

(C) fi.ud. | 3 NADP+ (D) Wi.ug. I 3 WIEEHW bef HR

The herbicide paraquat blocks electron flow between which two com i ! e
transport chain ? ponents in the photosynthetic electroft

(A) Cytochrome b6f complex and PS |
(C) PS | and NADP+

(B) NADH Dehydrogenase and Ubiquinone
(D) PS i and Cytochrome béf complex
66, frefefea § @ #i-w waifus fea mitfeafadh o 2 -

(A) T (8)
R (D) et
Which of the following is the most stable ecosystem 7
(A) Mountain (B) Ocean
(C) Desert (D) Forest
®200 7
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67. aﬁf—lmt{a‘luuﬂﬁﬁﬂﬁ l

T -1 R
e * ATgSAe i T T
E Ll el C il -0 fing
c. effran daden i EE ot
N
d. R Q0 M. W gm
3 ~J
A9 fow T e § & w3 Tf | -
E T4
(A) a-ib-ii,c~iv,d-i | ®) asib-iv,c—ii,g-i
(C) a-ii,b-iii,c-iv,d-i .. D) a-iii,b-iv,c—ii, d=i
Match List - I with List — II. :
List -1 C List - It
a. Nigella -~ i. Night Jasmine
b. Leucaena leucophloea - li. Love-in-a mist
c. Helichrysum bracteatum ~_+ iii. White popina
d. Cestrum nocturnum .y iv. Paper flower
Choose the correct answer from the code given below.
Code :
(A) a—i, b—ii, c—iv, d—ii ! (B) a=i,b-iv,c—iii, d—ii
(C) a—ii, b—iii,c—iv, d—i =, (D) a-iil,b—iv,c~ii,d~i
68. TS —| I g — || % Ty Gaferd = | =
it - | o -l
a. fafesen wiew SR
b. ZIETHE SUEA Co . ufeE
c. G SAfwRAfers . fafeen
d. Ferfen FHisfum AL L
Hr fer Mo %2 ¥ HE IW gFU | -
: - ~Iv,d-1
(A) a=IllLb-1l,c=1V,d-1 " (8) a-ho=lhe 'Y’:_m
(C) a-IV,b-l,c=Ill,d-1 (p) a-l,b-V.e=h
Match List — | with List - II.
List -1 List-1 .
a. Pimpinella anisum |. Euphorbiacea® e
b. Trigonella foenumgraecum Il Aplacea® .
c. Emblica officinall |ll, Zingiberacea
d. Elettaria cardamomum \v. Papilionacea®
Choose the correct answer from the code given below:
Code : |b"'"|'c-N'd-“
(A) a=1lil,b-ll,c~1V,d~I ®) a—ib—lV"’"’d'm
(C) a -IV,b-1,c~IIl,d~ Il (o) a=lh 7

219

% ‘
Scanned with CamScanner


https://applink.adda247.com/d/XhqWf9lSap

Adda

=4 |

69. A2 & wud Ry mu &, B sfmem (a) st gt w b

.

73.

_ Assertion (A) : Archaebacteria are capable of thriving in extreme environmental conditions

GET IT ON
Google Play

() FE TR |
Wﬁu‘iﬁmﬁmmmtl

aftem (A): fewtazg dy 13
(A): wfirferem i 1 g O et s § |

% (R): T8 G I G % T WA
mhﬁm s )
(A) (A) HE 2, T (R) T 2

(B) (A) T 2, T (R) Wl R

(©) (A) 3i (R) 2l =l & g (R), (A) el = T R
(D) (A) 30 (R) 31 wdl & 3t (R), (A) h ui =men 2

Given below are two statements, one is labeled as Assertion (A) and other as Reason (R).

= Assertion (A) : Apomixis is more common in polyploids than diploid plants.

Reason (R) : It refers to the substitution of the usual asexual reproduction by a form of sexual reproduction.
Choose the correct option : .

(A) (A) is correct, but (R) is not correct .

(B) (A) is not correct, but (R) is correct -

(C) Both (A) and (R) are correct, but (R) is not the correct explanation of (A)

(D) Both (A) and (R) are correct and (R) is the correct explanation of (A)

St # & 7 9d8 3 s wEe @ 7 !
() i siea () Hifeen frgw ufam (c) smfFs FfE (D) TEIE e
Which of the following is known as Blrd’s_ Nés:fa@lid ?

(A) Listeria ovara (B) Neottianidusavis (C) Orchid Morio (D) Spiranthes spiralis
Frffias § | F-1 EEE Hell % T 8 gedd: fadier #ar # 7
(A) YA (8) \ () f=ife=a (D) feafa= ufEs

Which of the following hormones is mainly rgpbonsible for ripening of fruits ?
(A) Ethylene (B) Cytokinins ¢ (C) Gibberellins
frfrfin § @ F4 disil § 3 H FGET S B 7

(A) Fren s (B) IZHHE SH (C) TATE T

Germination of seed is promoted by which of the following ?
(A) Blue light (B) Infrared light (C) Red light

(D) Green light
ﬁ%amﬁqmﬁ,wﬁmwmﬁgﬁﬁ(mmm%n

Aferaa (A): ATHEFE i : # Sfifqa & § gam EE €

7% (R): T35 Hivr fuferd & T S R

m_"rﬁmgﬁ 00

(A) (A) = 2, TG (R)Terd R "

(B) (A) T B, T (R) W B

(©) (A) 30N (R) @l wA & W (R), (A) 1 HE samEn T R

(©) () 3 (R) 2l @ & 3 (R), (A) ) T saren R

Given below are two statements, one is labeled as Assertion (A) and other as Reason (R).

(D) Abscisic acid

(D) &1 5™

Reason (R) : Their cell walls are composed of peptidoglycans.
Choose the correct option :

(A) (A) is correct, but (R) is not correct

(B) (A) is not correct, but (R) is correct

(C) Both (A) and (R) are correct, but (R) is not the correct ex

(D) Both (A) and (R) are correct and (R) is the correct expla planation of (A)

nation of (A)
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b m.b-1I,c=I,d=1V (B) a=IV,b=Ill,c=Ml,d-1
((2; :_-n' blll,c—1,d=1V (D) a=l,b=M,c=II,d=IV
Match List — | with List = Il i
L‘st "l 5 . i 'e
. Classification system is based on de Candol
Hooker

E > Pooiham :r;:d,anﬂ IIl. Classification system is based on Bessy’s system
% B En?I:_r a:m IIl. Classification system is based on Eichler’s system
- ; ?:kit;?:n IV. Very similar to Cornquist

Cht;ose the correct answer from the code given below.

c(it:ea:_ bl o I d— v (B) a-1V, b-;'"", C-.—"ma(iTvl

©) a-ll,b-Ml,c—1l,d=1IV (D) a=1,b—lll,c—1

75. ﬁmﬁf@aﬁ@aﬁ:—mm‘aﬁﬁ@mﬁw’ﬁﬁm%?
FAfafers Ty g fieead 2

aN _ ,N(1 3 N]

dt K

a. 9@ N =K 2 2, a9 S6E g o sifrepe & |

b. 38 Fq N, K F1 T FR, SHEEN iy g e |

c. 32 N > K 2ran 8, a9 sEea g2t | 2
d.meﬁquwmﬁﬁmwhdmc (D) ¥4 a
(A) Fad b 30 ¢ B) ¥a@ b, cafid (O '
Which of the following statement is related with the ‘logistic g%t
The logistic growth equation is as follows :

dN N
gt rN(‘ K J o
a. Po | is hi 3
- Population growth rate is higher when N = K.
b. Population growth rate decreases as N approach@s K.

C. If N > K, the population will decline ronmen -
’ * lw‘
’ a
d. K represents the maximum number of individuals the envi . (D) Only
(A ‘
) Only b and ¢

(B) Only b, c and d (©) only 71
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o | el I R S % w4 srfa 61 a6 e i E |
mn:mmmwm%m?ﬁ@mﬂmm% |

Ha feeq 94 ¢ '
(A) BT FU T B |
(B) B HUF T @ |
(C) U | F&l B, Wg O | e B

(D) YA | T B, W B || FE B

Statement | : The empty Niche hypothesis explains the success of species as invaders.

Statement Il : The novel weapons hypothesis explains the release of enemies for the invasion
process.

Choose the correct option :

(A) Both Statements are correct

(B) Both Statements are incorrect

(C) Statement | is correct, but Statement Il is incorrect
(D) Statement | is incorrect, but Statement Il is correct

a1 T fa— el a1en A # 3 sM-wE aE S A ST & T A
(A) SerHTEE (B) UsEm™ ~(C) wEEm (D) FARTEATER

Which cellular organelle has a dual-membrane and is associated with semi-autosomal replication and
maternal inheritance ?

(A) Peroxisome (B) Endosome (C) Lysosome (D) Chloroplast

A - 1: ‘Ras’ T B1eT ‘GTPase’ &, T P § RTKs & T3 7o Roriet gy & eg et & R
wifore gfg i fasiea g 2 |

YA - 2: ‘Ran’ TF BIZ1 'GTPase’ &, S HINH F 3iawdt ufwas ¥ 2 Ifgser Thered 30
vFETETEIEE %1 i w2

aﬁﬁmgﬁ:

(A) F9F 1 Terd 2 30 FUA 2 T R

(B) %9 1 B B 310 %A 2 e @

(C) Bl Fe Terd #

(D) i w7 B

Statement 1 : ‘Ras’ is a small ‘GTPase' involved in transmittin

si |
cell leading to cell proliferation and differentiation. g signals from RTKs to the nucleus in

Statement 2: ‘Ran’ is a small ‘GTPase’ thatregulates vesicle tafficking and axocylosis S S U
transport.

Choose the correct option :

(A) Statement 1 is incorrect and statement 2 is correct
(B) Statement 1 is correct and statement 2 is incorrect
(C) Both statements are incorrect

(D) Both statements are correct

e BN &0
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88.

89.

90.

[E]&'@) Assertion (A) : Plasma memp

91.

e § & e aaifue 1 190 27

(A) Ffea (B) IV Hew © -
Which of the following has largest forest cover ?._ TG

N s (B) Aunachal Pradestt _ (C) Madhya Pradesh (D) Ghhattisgarh

Ya 3 Al § waR P 3 FE 8 7
(A) BTHITEE (B) FETEAL - (©) Tt »
Succession of sandy dune is called as sfrfae
(A) Psarmosere (B) Halosere (C) Lithosere b8 i

-l g gad ¥ frefafad @ 2
a. UREdasiierar S HH=l

b. HTe W Iucieddl
c.mizmtﬁam

d. T Wsiehl 1 IedTe ®
(A) A a 31 ¢ (B) %aet a 3 b (C) %9¢ b, c,d (D) %4« a, b, d

0340
2
=

In-vitro micropropagation has following advantages
a. Range of variability :
b. Year-around availability >

—

c¢. Small size of explants —
d. Production of disease-free propagules
(A) Only a and ¢ (B) Onlyaandb . (C) Onlyb,c.d (D) Onlya, b, d

R 2 o fou TR, o A e (a) 3 gE Bl @ (R)FE R |

VR (A) : ST HEH ST wy @ g A 2 i S90S UiEH & & S weri
e # fafya @ 2

e (R) : SE0TT TR Selrom S e A 3 ol @A S0 S I S S S

]
—

() (A) T B, T (R) e 2 \

(B) (A) ST B, W (R) | 2

(C) (A) 3R (R) 2l =1 & v () i 2
» (A) 31 g} e

(D) (A) 3 (R) 2Fil 8 & 3 (R), (a) oy ) e B

Given below are two statements, one is Jabeled as Assertion (

: rane i i ‘ le due to

. :gulate the movement of substancesssmectlvely P d all I th lecul

eason (R) : Integral proteing : membrane and allow all the molecules
regardiess of size and ch are embedded in the plasma

arge t
Choose the correct option, g8 o pass freely.

(A) (A) is correct, but (R) js i

(g) (A) is incorrect, but ()n) i';'gg:::g:

ED; g:: 2:; 223’ (R) are correct, but (R is ot e gorrect eXP
(R) are correct g (R) is the correct explanatio of (

A) and other as Reason (R).
the presence of integral proteins that

anation of (A)

7
©27¢
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92 g Nk wiehed Ud el firmn # ey & Fe-m FuA EA R 7 ﬂ

|. g T TR A (32) AR A o A FR 8 g @ @
CIRE 1. fibm % s wrarenss ot 4 firsn 1 Sl fee (V) @@ A R (v) |
ﬁ% fawnfor o wae &

. e 3 gran forman fo w11 e ammEofa SR d afaa 2d @

V. Tt il fman (v;) el sgafos i (v,) & aoe g 2

(A) e I, N3V (B) FHaet | 3| (C) haet Il 3 (D) Hae 1, 11 S

Which statement regarding the multiple factor hypothesis and phenotypic variance are true ?
I. According to the multiple factor hypothesis traits are influenced by multiple genetic and
environmental factors.
Il. According to Fisher, the variance of a quantitative trait can be partitioned into genetic variance (Vg)
and environmental variance (V).
lll. Fisher claimed that a quantitative trait is solely determined by environmental factors.
IV. The total phenotypic variance (V) of a trait is always equal to the genetic variance (Vg).

(A) Only II, lll and IV (B) Only | and Il (C) Only Il and I1I (D) Only I, Il and Il
93. famicifiga @ & H-a1 FINEHA TEH F e 3R I9-Swonees wuied <1 wike 2 7
¥ (A) Tt e . (B) mEHTRATm
s (C) Tt Uty (D) TZEEEH
b Which of the following organelles is involved in both protein sorting and post-translational modification ?
.“ﬂ (A) Endoplasmic reticulum ~ (B) Peroxisome
- (C) Golgi apparatus L' (D) Ribosome

94. = 31 FuA fou v #, v 1 SFFA (A) 3N TH 1 aH (R) FR TR |
FftreR (A) : FIH 7 WEH F a0 2 |
% (R) : 9 o a-q sl W fafld 2 & |
@ famea g4 |
(A) (A) TE B, W (R) TTeid 2
(B) (A)7eTd 8, W (R) &l 2
(C) (A) 3 (R) a1 @él & 9T (R), (A) % Hell samEn 48 8
(D) (A) #IT (R) 21 W&l & 31 (R), (A) 1 T =am=n 3

Given below are two statements, one is labelled as Assertion (A) and other as Reason (R). EYE
Assertion (A) : Cotton is fibre yielding plant. %
Reason (R) : The cotton fibres develop on the seeds, (=] 1
Choose the correct option.

(A) (A) is correct, but (R) is not correct

(B) (A) is not correct, but (R) is correct

(C) Both (A) and (R) are correct, but (R) is not the correct explanation of (A)
(D) Both (A) and (R) are correct and (R) Is the correct explanation of (A)

®©28® 71
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A o5 g wohy % a3 6 nuw & wre it I G s danh Aferm oft, Afw s s ofd ¥ o 57
' waedt afera o 7 o

(A) SiFIHMATEIE SFm
(B) el amufefRm
(c) Pritfitfirems ré

(D) PSS e

Which species’ stem had a single vascular cylinder near the base and at the apex, but had 5-7
between the base and apex ? J

(A) Cornoconites laxum .

(B) Sahnia nipaniensis ]

(C) Nipaniophyllum raoi

(D) Nipanoxylon guptai

96. TR % I # FefeRad § ¥ FA-E1 ST wad wEe 2 7 EvE
|. TR Serary] 1 gAfEt "%z
II. 9T & fashmETeTs =N o erEH
. 99T % FgFe I WAl H GoAHA
IV. BHE GUR § W 3gherdl &1 fumor
(A) Fa |, I 3T IV (B) Faa |, Il 3 Iv
(C) Faa Il 3 I (D) e | 30|
What is the most significant application of polynology ?
|. Reconstruction of ancient climate
Il. Study of developmental stages of plants
lll. Evaluation of plants adaptability
IV. Determination of pollen compatibility in crop improvement
(A) Only I, Il and IV (B) Only |, lland IV
(C) Only Il and Il (D) Only land Il

7. furmt o T2 5 A v e i A v alehvrEe ) TR T # | e 3R e e
U qfefigaereell Sl A @ st # | 3w ufy i g @ A @ 0 0 A @ | A 4w W e e
2 21 0 e O T 15 om 1 2l w1 R, ) 3p W W 3 T Qe 0 6 B A Feeen a

cataracts
ve either
what is

£/82000

VE A woman possesses two dominant traits, each resulting from & mutation in a different ger:eh.
;; Inherited from her father and polydactyly inherited from her mother. Her husband does not ha
" lrait. Given that the genes for these two traits are located 15 oM apart of the same S

the probability that their first child wil inherit both cataracts and polydactyy ; D) 49.5%
(A) 52.5% (B) 63.9% (C) 42.5% il
7
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98. Na/Ca Hfeaie ¥ & Wit Yol i 1 7€ Fgn s 2 7

99.

EYE
@

100.

(A) e €
(C) Fm s

The somatic embryos covered with Na/Ca alginate are not characterized as

(A) Synthetic seeds
(C) Artificial seeds

f=fafia = 1 w8 5 3§ =afem Hift |
1. afaaa 6 arffe vgfa

I, w3, i 1 Fiiem vgfa

Il &2 uE g it Fffet vgfa

Iv. Urer ud Hea it affeor ggfy
(A) 11, 111, IV, 1
(8) 1,10, 11, 1V
(C) 1,1V, i, i
(D) I, 11, IV, I

Arrange the following steps in the correct sequence.

I. Hutchinson's system of classification

Il. A. P. de Condolle's system of classification
lll. Bentham and Hooker's system of classification
IV. Engler and Prantle’s system of classification
(A) 11, 101, 1V, |

(B) 1, 1, 1, v
(C) LIV, I 1l
(D) LI, IV,

‘FTafET ey fee fean o
(A) wEIfe EEm

(C) FTet Hid

Who coined the term ‘Genetics’ ?
(A) Tschermak Seysenegg

(C) Carl Correns

(B) TS W
(D) @ TS

(B) Closed seeds +
(D) Encapsulated seeds

(B) Ty, demm
(0) =7 %t s

(B) W. Batson
(D) Hugo de Vries
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